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INSTRUCTIONS

1. The Question Paper contains 150 questions. Section A (Indian and AP Economy) has 75 questions,
Section B (Science and Technology) has 75 questions. Each question carries 1 mark. For each
wrong answer 1/3" mark will be deducted.

2. Please check the Question Paper and ensure that it contains all the questions. If you find any
defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in Duplicate. Do not separate the copies. The markings on the first page
will automatically come on the second copy also. The first copy (Original) will be retained by
APPSC for evaluation and the second copy can be taken by the candidate.
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3. Write your Registered Number at the top of the Question Paper. On the right hand corner of
the first page, the Question Paper Series is printed as (A) or (B) or (C) or @ On the OMR
Answer Sheet, Side-1 at the right top corner at Part C. the Question Paper Series are marked
as @ © @ Darken the appropriate circle, as per your Question Paper Series with

Blue/Black Ball point pen. Gel pens/pencils are not allowed.

Example to fill up the Question Paper Series on the OMR Answer Sheet
If your Question Paper Series is A, please fill as shown below :

@®OD®

If you have not marked the Question Paper Series on the OMR Answer Sheet Side 1 at Part C,
or marked in a way that it leads to discrepancy in determining the exact Question Paper Series,
then, your Answer Sheet will be invalidated without any further notice. No correspondence

will be entertained in the matter.

4. Please get the signature of the Invigilator affixed in the space provided at the top of the
OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated.

5. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.

6. Each question is followed by 4 answer choices. Of these, you have to carefully select one
correct answer and mark it on the OMR Answer Sheet by darkening the appropriate circle for
the question. If more than one circle is darkened, the answer will not be valued at all. Use Blue
or Black Ball point pen to make thick mark to fill the circle completely. Make no other stains
or marks. Using Whitener/Blade/Eraser/Chalk Powder or any kind of tampering to change
the answers on OMR Answer Sheet will lead to invalidation.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

D@D |®

7. Do not fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

8. Do not mark answer choices on the Question Paper. Violation of this will be viewed
seriously.

9. Rough work may be done on the last page of the Question Paper only. It should not be done
anywhere else.

10. Any type of Electronic Devices such as Calculators, Mathematical/Log Tables, Mobile Phones,
Bluetooth instruments etc., should not be brought into the Examination Hall. If found in
possession of such devices, it will be considered as cheating and strict action taken.

11. As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use
any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

12. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 24 Hours. No
candidate shall be allowed to leave the Hall in the middle of the examination under any
circumstances.

13. Before leaving the examination hall, the candidate should hand over the Original OMR Answer
Sheet (top sheet) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.

Taking away the Original OMR sheet is a punishable offence.
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SECTION - A
INDIAN AND AP ECONOMY

1. What was the primary reason for the current account surplus in Q4:2023-24 ?

(1) Increase in merchandise exports { !2! Surge 1n services exports )

(3) Decrease in imports (4) Higher remittances

2023-24 Q4 &° 5305 5T 0eS gror ients (FEE St Ded 2
(1) 3B%0 MBS LIS (2) D00 Dot oIS

(3) BroB8E Siatse (4) 6% 3oped
2. When currency is bought at a lower price at one place in the foreign exchange market and at the
same time sold at a higher price at another place, this process is called ?Efﬁ_@e
(D) _Arbitrage ) (2) Rationalization
(3) Annuity (4) Semi Bombla

BB 505D e (SrT5)E 2.5Ter SES GO KON TeoR'es 30, o8 Hoabed’ 88 Te
DS (5 DFCoODTHE TP B HED WoLT.

(D) 50855080 (8\832) ) (2) rEwlsse
(3) ScpEssw (asrged) (4) 220 eroer

3. Statement A : The RBI announced a temporary I-CRR of 10 per cent on 10 August 2023. E] D
Statement B : This action impounded about Rs. 1.1 lakh crores from the banking system. El

(1) Only statement A is correct

(2) Only statement B is correct
{(3) Both statements A and B are correct]
(4) Both statements A and B are incorrect

Fgarg0 A 1 RBI 10 esiiy 2023 & 10 280 &om@5 I-CRR & L‘;SLS\J 2o8. o
Tgarge B 1 8 03 ergos cﬁ Sgig oo 25 X 1.1 ug“ 2350 o° »@Kac S0 0. F .g?
(1) Trgargso A SR VSN

(2) Tggrgdo B &0 TSR 058

3) Fe0 A Sobosos B J0GT H00:
(4) Tgamgores A Sobaieo B Sotis RO S°H

4. Which Article of the Indian Constitution empowers the Central Government to extend loans
to State Governments ?

(1) Article 292 | (2) Article 293 ) (3) Article 294 (4) Article 295

Sois (FEhbEgRS O (SETeH Soeres Sooevth 3h WTTo KriE Terokod’D O wbEteo
0 @0l ?

(1) 955292 [ (2) es65S5293 ) (3) ©588294 (4) 856295

4 ©)



E& 2G/202

5. Statement A : In AP, capital expenditure constituted less than 15 per cent in the total %%*z
Government expenditure during 2016-21. =
Statement B : Capital expenditure reflects the State s commitment towards infrastructure
c1ea{10n
(1) A s true, but B is false (2) A is’false, but B is true
[(3) Both A and B are true ] (4) Both A and B are false

B80S At oGBS 2016-21 Sog5y oo’ Jngo L S5ebos® Saredss Sabo Ter

15 380 Sodl B &od.
B568 B : STl Sgabo STOK SEodraire Soys $¢ CRRESED (HBAD0B.
(1) Adeo, 50 B By (2) A&Sy, 50 B eso
(3 A 5560t B Bocar o ) @ A;s"a'@o:m B Boti» 85y
6. Which external funding agency is supporting the Andhra Pradesh Integrated Irrigation and
Agriculture Transformation Project ? w1
(1) IMF (2) World Bank
(3) Asian Development Bank (4) European Commission
SOGEDE F03NRAE FORSS HoBA FgDrah B0 DBED $o503 &Sy DGow DBy B
(1) IMF (2) Do ersot
(3) esdvar VDB ergosd 4) oﬁr
7. Match List — I with List — IT and choose correct answer: (Common codes for English and Telugu
Versions)
ERE
List —1 ﬁﬁ%} List - 11
a. Monetary Policy = i. Tax Rate
b. Trade Policy ii. Margin
c. Credit Policy iii. Imports and Exports
d. Fiscal Policy iv. Bank Rate.-
2D — 1 erder ~ 11 § w369 503 357Dy Josood.
AR | erdee ~ 11
a. (555 Dereso i. B89y Bewo
b. BEZed  gam ii. S7GS
c. B&eS o F@ﬂ%‘ iii. &Xo3oeoe0 JoBK Issosond
d. =98 dgrso - iv. ersof BeS
Codes/S*Ees a b ¢ d
(O v« i)
2 v i 1ii 1
(3) i ii i iv

4 i i iv iii
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8. Which of the following statements accurately describe the environmental impacts associated
with agricultural practices ?

[. The application of synthetic fertilizers and pesticides may result in soil and water 7
contamination. -
II. Sustainable agriculture focuses on preserving soil health and protecting biodiversity.
III. Modern agricultural practices are unrelated to the depletion of freshwater resources.
IV. Expanding monoculture farming supports overall ecosystem stability.

(1) Hand IV (2) Hland IV (3) Tand I (4) Tand Il

Sy racgm o8 5080G dd 5 SO0 Berarei 408 T8 T Esedes PGB SO0 ?
I 2oe5e38 Jtoaes $00a HEES0cte ToEse Se S8d s Seohardd TBBASE,
I1. c&)t, (] m{éw 350 \JU BU l’?éw\. rJOdéO{ja\.- 003 muu;)@g % u_run)t.w O & > 3‘“@‘@00@

a /8

. es8500% ;5555:;“60; SGB00H 30023 S580e éme‘ﬁ& Soogic T8. g?h%
I\;. RS -J\-t"S uﬁy W Q:lj_‘tu ;}l\vb\u -:)(:F‘ wﬁ.’u a.,O‘\ \J\..)E“- :-JQ"»:*: ?..f..n..."' .ri Fﬁ‘JgQ‘.J’JZ‘C‘;Je'f%‘Oﬁ. e
(1) II35sBaias IV (2) HI So8cse IV (3) 1I3:0axe I (4) 1508 11

9. Assertion (A) : The Indian economy demonstrated resilience despite global geopolitical
challenges.
Reason (R): India’s fiscal and monetary policies ensured economic and financial stability
post-COVID.

| (I)_I::"oth (A) anﬂ}:{} are true and (E) is the correct explanation of (A) 1

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A)is true, but (R) is false
(4) (A) is false, but (R) 1s true

B80S (A) : k0 & THOE e ‘§u3;‘ SJ"Q}‘ f..u&')\;hwé erO w‘:‘i’:‘ E,SH_: 1 dé:ad‘é&iz @CS&_;L}O@
-vesmo(R) TESG%0 B0%), 6B SB0% (€555 DQ‘TW 5& 803 b 558 (555 lﬁ_“
<§u@bo.\ :JO-OC:-Q}.J

)mao:m( ) SO 00w 300050 (R) @638 (A) Clook) KT D00 )
2) (A) 500050 (R) Sot :,a 352, S0 (R) G0 (A) 008, 908 S0 S
(3) (A) 8, 57 (R) &y
(4) (A) &5y, 50 (R)

10. Special Drawing Rights is the currency of International Monetary Fund, This is in the form of
(1) Paper currency (2) Gold
(3) Silver and gold both {4'} Book keéeping entry only
Db Lc:s*oc\:cl \ Beﬂn (Special Drawing Rights) &0 eo8goa (X 46 (IM maﬁéu (gom).
a& D o’ (nof““& 9

(1) ==A8D SB‘C (2) zomdo
(3) 3o, 2oirdo Bosr (4) Der B0 53765 (208 39oh Sogd) S
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11. India’s rank in World Bank’s Logistic Performance Index in 2023

(1) 15 () 27 L 338" )] @ 4 _—
2023 & (35019 508 B8% Gres BB 13D (oS maa S 30k, & grosdio o m o
&l om

(1) 15 (2) 27 (3) 38 - = (4) 49

12. Assertion (A): Transfer earnings are not to be included in the estimation of National Income.

Reason (R) : Transfer earnings are not payments for factor services.
(1) Both (A) and (R) are correct and (R) is the correct explanation o
(2 oth an are correct an 1S n € A)

(3) (A) is correct, but (R) is not correct

(4) (R) is correct, but (A) is not correct ERE
TES (A) ¢ erdab esorabo wosTd” w88 eoraire '36 236539, %&’
e (R) : 280 escrasres 3”5§5 FRTSLES 3@303’30& =9 o

(1) (A) S00cs0s (R) Sotr 500 5000%0s (R) @38 (A) oS, 1905 DB0E>

(2) (A) 558050 (R) B0l B0BR) 2000 (R), (A) © o?mSLRSBrJ 506 5700
(3) (A) 3358, D (R) :oaco& et
4) (R) mgda =D (A) \)g;sa 50

13. The situation where a country simultaneously imports and exports the same product is called

(1) International reciprocal trade
(3) Factor reversal trade

Internal reciprocal trade

(4) Intr‘a;-induslry trade

2.5 o D55700d’ 28 6B 10508 B0 508000 MDD SO0 B2 E00 0 Gy GoePD ?
(1) eosgdub 35S Teleo (2) eosts ,,acs(ogqmﬂmso
(3) %6 ostd B& (4) aoLw-qod@ ©IC

14. Which of the following statement(s) is/are incorrect regarding the GST Council (GSTC) ?

I

I1.

I11.

IV.

The GST Council is a constitutional body established under Article 269A of the Indian
Constitution.

The GST Council is responsible for making rccommendatlons on issues related to the
Goods and Services Tax.

Every state does not have an equal vote in the GST Councx]
Decisions of the GST Council require a three-fourths majority of the weighted votes

of the members present and voting.

(1) Tand IV (2) 1 and I1I (3) Iand I1I (4) Only IV
GST T8 (GSTC) & 00§00 406 §e5300t508” 28/ Sy

L.
ll

IV

%
GST TS &30 g8 O‘aﬂ“soﬁoés"}b 555 269A BT @%:c:bm.é &8 oergoli oy, [

GST TS ergigs Sa3pe0 Sodoko RN BSNE :ooaao@of.’)é EOSUNOR S lePoY Jahso .

. GSTTNSE" (98 OGS BT e GO, -

GST 06 GBooty, DPATreH T8 So0akn L8308 T, vaige DowdE Led Treshots
Saeo Sosow Boerdel esso.

(1) 150805 IV (2) 1I 5080y I (3) I 556050 1 @) IV srss

7 ©



Eﬁ 2G/202

15. What is the significance of the new payment settlement framew ork introduced by the RBI

in the context of the Foreign Trade Policy 2023 ¢
(1) It dlscourages the use of the Indian currency in cross-border trade
[ 2) Itaimsto encourage_the use of the Indian currency in cross-border trade
(3) It eliminates the need for foreign exchange reserves
(4) It increases transaction costs for exporters

[EIRE 38 oredess Deso 2023 dostyod” RBI 582635 §8 2903 3638 doyese (63630065
s £ (250356)) Glooy, @rssioggss 52063 2

(1) 30 8063 Tredesgol’ aroBuk ST (Big0/dieny) EREIAoSER) DOTyFHt08

(2) é&;’ﬂ:&n mz.‘iasqouj' * g OBA0 500y G@IAoSETRy RFSyvTrostio 8 o850 l
(3) 38 :)5@ S8 Joge e5so) Softoed
(4) 30 MOV TTE PENBS DoHHECD

16. Statement A : India is the largest producer of milk.

Statement B : India is the second largest producer of fruits, vegetables and sugar.
(1) Only statement A is correct

(2) Only statement B is correct

(3) Both statements A and B are correct
(4) Both statements A and B are incorrect

TgaTso A 1 grE8S¥0 982 o G5BT L.

Tgarsio B 1 grosido Sokss ed G Bok, Srdmrabes S0 5P &HIT . FE] bRy,
e |

(1) Tgrgeso A S VLIRS 2058

(2) Tgargeio B s & Baa

(3) Bold Fgrsores A :)uak.ﬁ.u B 5855

(4) Soto TggryTres A Sodaie B B3 59

17. What challenges does India face in managing its oil consumption ?
(1) Lack of domestic energy demand

(2) Consistent global oil prices

(3) Supply chain disruptions and fluctuating global oil prices
(4) Abundant oil reserves : ERE
B250080 QAT AEroEed” grEttto Jeroed KT g T ctuod ? S
(1) BB 30e5s Esred B¥seo

(2) -‘gcss,as SOBTHAD S50 e

(3) foéq.«c" freodd > (R DOS) oSBT AITes Sodat of‘e‘écfu 50 S50 GO0 STFERSRes

(4) DJwor SSss Jegen

(©
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18. What impact does an increase in the GNP deflator have on the purchasing power of money ? g%@‘

(1) Increases purchasing power

(3) No impact on purchasing power

(2) Decreases purchasing power

(4) Enhances the value of currency

GNP &56:6 2tome Gexgy TS0 en ¥ Joroed (HerSo $HEod ?

(1) S5ffed 38D Botatiod
(3) SxoR‘en #52 (Herso eotitd

(2) SR e0 ¥3D A0

(4) 53y Deosso owBed

19. In the Union Budget 2024-25, the GOI has promised funds to the following industrial nodes as
part of the development of the Vishakhapatnam-Chennai and Bangalore-Hyderabad industrial

corridors
(1) Kopparthi and Orvakal
(3) Orvakal and Donakonda

(2) Chittoor and Donakonda
(4) Kopparthi and Chittoor

Sos 0@es 2024-25 &, TP o-TDy 0000 BNEIEO-TE0erd TOFWE SETv (5°0E)
SAHOE" RIS O TOFNE TEOD, GO [HEHS0 ©RE TR0 odkd 9

(1) S350 30bakw 2.5:85
(3) L6588 SoBako FsE ol

(2) DBRTL So0akn S35 o
(4) E5)8 Sobakn DBTEs

20. Which of the following statements are correct regarding PURVODAYA scheme introduced

by the Government of India in 2024 ?

1. The PURVODAYA scheme aims to improve infrastructure in the eastern part of India.

I1. It deals with Buxar-Bhagalpur Expressway.
I1I. New Delhi-Kolkata Industrial Corridor is being developed as part of the PURVODAYA

scheme.

IV. The primary goal of this scheme is the development of Gujarat State.

{ (1) L1Ionly
©(3) IL 1L IV only

e
Lo

(2) L 11, III only
4) LILIOL TV

2024 &° P58 ($e080 328 B A SRS SowoRodSEed PELNed” KON 0 2
I IEEah B¢ grostEod’d Ertyy @roBod’ STOY HETraress So8rRsEEe oo

ERT8.
I1. 38 286-grRer)6 HERIILH SowoRodod. g {1;“_‘

M. 5r538-E'dser 0Fs 50w wdng Srbean ac‘;ﬁoéﬂ gPHo.

V. roecd oge @58 82 @S oo,

() TIS5E5% )
() IL 1L, IV 3783

(2) L IL, T S50
(4) LIL L1V
©
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21. What was the purpose of the 49 fine-tuning operations conducted by the RBI during FY 2024 ?
(1) To tighten ilqmdlty condltlons

2) To

(3) To maintain llquldzty conditions in alignment with the monctary policy stance

¢ money supply

FY 2024 &° RBI 3 262roseds 49 28 eargdoh e300 ag¥so 2203
(1) @555 va‘ga,c,m so850 Sonerdd

22. Which of the following are included in the Reserve Bank of India’s Foreign Exchange Reserves
(FER) ? & Ei

a. Foreign Currency Assets (FCA) jez¥=m b, Gold
c. Special Drawing Rights (SDR) [ = a Reserve Tranche Position

(1) aandb only (2) b,cand d only
(3) a,bandconly [ (4) All'the above )|
BesSs ergof &5 odasr DBY S8 (555 Veged’ (78S 38y yoif 8x6;) (FER) 308 736" D
Iy ?
a. 8% SBN_J ees (FCA) E%E% b. acoirdo
c. ©8g @raxoh FXeo (SDR)  EFFE d Besbs erod o
(1) aSoda%n b S (2) b, & 0By d 5 (530
(3) a, b 5oBaw ¢ STEo (4 250 )

23. Which Indian organization is responsible for estimating the National Multidimensional Poverty
Index (MPI) ?

(1) Planning Commission qu) NIﬁAaon )
(3) Reserve Bank of India ( mnistry of Finance

She5S :ma, 5338 5§ 3088y (MPI)R eosae JaES 2 &roduh Dok ergsssirded ?

(1) @Wv§mcq}r (2) NITI esca
(3) e ersos &F godak® (4) &8 So0@8; TP

24, The severe balance of payments crisi i ized by
l 1) High inflation, low foreign exchange reserves and a large fiscal deficit Id
TZ2) Rapid maustrial growtn, Increaseq %orelgn excEange reserves and a trade surplus
(3) Low inflation, high foreign exchange reserves and a balanced fiscal budget
(4) Strong foreign investment inflows, low inflation and fiscal deficit -
1991 :-55 erRESD%e G ) @:u.’» 2By €55 HBo0es 208 e;‘c o&_iﬂoﬁ" 35 52330&. %
wpmu 85 h% 38K Dexed o0k 2 (555 Feas -T o
(2) IMDOBRS 3”6@“:)35 BB, 2ONS DB STCE Jogew B :Iz‘%esé rtoeo
(3) &5 @55‘50\?‘0 Y DBT 30758 Jogen o0 BKosseg &0 wges
(4) weR0o% BB eyt B0, BN (T 5eyer0 $o00Kw u“f‘ e
10 ©
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25. Under the Industrial Policy of 1991
(1) The mandatory convertible clause is apéi_ijé;able to all term loans
(2) The mandatory convertible clause is apﬁﬁéablc to term loans of more than 10 years
(3) The mandatory convertible clause is apé{{:éable to term loans of less than 10 years
((4) The mandatory convertible clause 1s no'loi;ger applicaolc )|
1991 Jd@o¥ Ipeso @580
(1) S350 5:8w08 Jeoess ey &b 6ot 588900 -
(2) S:3,I%0 K:5,3e08 Deogss 10 03800 Soid HS &8, &S 368300
(3) 533500 553806 D0 10 ¥o38 00 Sotd SE3S 6 'S 5608

0
e

{4 e‘ééﬁﬁé& §é£_§m3 FVTTICTANS) agg_’ﬁ_ﬂﬁos& - ]

26. Atwhat subsidized price per Kg did the Govej‘xjinent introduce ““Bharat Rice”" for selling through
NAFED, NCCF and Kendriya Bhandar ?
(1) Rs.2 (2) Rs. 29 (3) Re. 1 (4) Rs. 12

NAFED, NCCF 5085 S0 gioaed oo Donosad (g wrsd 30’ 9 868 3 sind
58 [$380eI08 2 i
(1) Rs.2 (2) Rs.29 ~.4(3) Re. 1 (4) Rs. 12

27. Which organization launched the Credit Guarz_ihtee Scheme for the Livestock Sector ? %'%Eﬂl
(1) Ministry of Finance

(2) NABARD

(3) RBI

(4) Department of Animal Husbandry and Dairying

S5 Somrds @&ag g8oed S RIS ?
(1) &gy 308 T :

2) e

(3) RBI

(4) % SoIEE Sobako OB TP

28. Which initiative was launched to provide a tap'f'\siziter connection to every rural household by 2024 ?

{ (1) Jal Jeevan Mission QM) )| ~“(2) Swachh Bharat Mission (SBM)
(3) PM Poshan §(4) AMRUT —
58 rhos goedd 2024 T3S Sovrow 563 525500808 3 SEyESR Sodosedod %E%;‘E
(1) =0 8a% om0 (JIM) (2) B S Widd (SBM)
(3) PM 2365 (4) AMRUT (@328)

11 ©
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29.

30.

31.

Post-economic reforms, the Indian economy saw a shift towards

(1) Increased government control (2) Reduced foreign trade

(3) Enhanced global integration (4) Decline in private sector growth
SR8 BoyPese eSoBE swod’, i e S $od DL Wfed

(1) g0 Jaboes 20Acd (2) B8 edesgo BN

(3) 0ERS S50DESE (xS 30e3756) @) 23eS500K 506" &esss

Assertion (A) : India’s real Gross Domestic Product (GDP) grew by 8.2% in FY24 despite global
and external challenges.
Reason (R) : The focus on maintaining macroeconomic stability ensured that these challenges

had minimal impact on India’s economy. ERE
(1) Both (A) and (R) are true and (R) is the correct explanation of (A) g&

(2) Both (A) and (R) are true, but ( R) 1 not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A) is false, but (R) is true

5% (A) : ©503 HoBAN &y K exiynedd FY24 & 505838 5955 GDP 8.2% 20R0b.
s*6e30 (R) : 7o Q8 0T SIThotte D G Sodsbostic g S KT grOS eQY BSHd
BES @&?FK‘Q b ovol

(1) (A) 350050 (R) Bodir Deso 080k (A) % (R) £535 D586

(2) (A) So80%0 (R) Tosr deso, 5D (A) % (R) 8% DsoEs S
(3) (A) deo, S0 (R) &5y
(@) (A) 85y, 52 (R) Jezo

Which of the following factors could potentially contribute to stagtlation in the Indian economy ?
a. High inflationary pressures due to increased Government spending. ERE
b. Decline in industrial production and sluggish economic growth. I'[i-j] ;:,

c. Decrease in aggregate demand and consumer spendin 2.
d. Appreciation of the domestic currency leading to reduction of export competitiveness.
(1) aandbonly (2) band c only
(3) a,candd only { (4) All the above
800 TeIE" D s 5O &P 55596 Kuu (FAS) Esse S ?
a. OAS (©Bghds 5ok ST ©OE BT 5es 2.
b. 0FRS &858 e85 3005 Fo0sNoDIS ©hE 3,0, E%_‘Q
. 3ngo A5rol WOk AIAFNGWe Hlod® SKase, Bifs
d. M8 HBTD) SRoSTRS Grobs Bl 5By Deus BEISS.

(1) aSobatn b So@Ss (2) b XobBako ¢ S
(3) a, c sBakn d S (4) 25
12 (©)
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Which of the following statements is/are correct about Foreign Portfolio Investments (FPI) in

2024-25?

I. The Indian Rupee (INR) moved in a narrow range with 1cm volatility despite FPI outflows.

II. RBI set investment limits for FPIs in debt instruments and Credit Default Swaps.

[Il. FPI investment limits in government securities and corporate bonds remained unchanged.
IV. RBI issued an operation framework for reclassification of FPI investments beyond E_":JQE_E_I!q

permitted limits. B

(1) Tand Il only (2) Il and IV only

(3) All the above (4) None of the above

2024-25 & 288 FEFVA> 5RFIo0Se (FPI) K000 EoO Eeses” DO(D) $BBE(R) ?
I FPI erig 8590900 (e:9e5%e0) &3y5,038 708 Erra (INR) 859 o8 REBS
@e3S° 56808.

"o

L orn Srtse 500050 toes B0iD 00D (3865 adg FH)es’ FPIo S0 deped H0008:05

RBI dgoxwodod. EIRE

[ e pErgdled” Hoas sETES erogd” FPI 2egud DB STEBE. o]
IV, @500 560808 Q00D FPI Btgedoss HOA 3558805508 RBI e so7gsces
Pgro (5358 (oS 3&)B0 &0 Thob.

(1) 1500050 I SB35 (2) T Sob0s0 IV 53>
(3) Doy (4) 3D s

33.

s
"

L]

Match the sectors given in Column —A with their corresponding Gross Value Added (GVA) Growth

Rates given in Column — B (Andhra Pradesh Advance Estimates of 2023-24). (Common codes for

English and Telugu Versions) [%Eﬂ

Column - A Gpe:  Column-B
a. Agriculture and allied activities A. 521%
b. Industry B. 8.02%
c. Services C. 1.69%
2530 T vxbo, H& sehd T Sowchs (e50ESE5BE 2023-24 S00ER BOTTe B5°0)
GVA Sﬁo)% BeSos R’)@ﬁ‘e:aoé.
Too-A seoc-B
a. ;5.;53'“0530 320050 es00E STFETU A. 5.21%
b. HOES B. 8.02%
c. 25 Solfo C. 1.69%
Codes/S*Ees : a b c
1) C B A
'7!} A B -
(3) B A o
4) C A B
13
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34. Which of the following mechanisms is NOT primarily followed by the Reserve Bank of
India (RBI) to manage exchange rate volatility ?

(1) Fiscal Policy Adjustments
(2) Foreign Eichangc Reserves

(3) Market Intervention

(4) Liberalized Exchange Rate Management System

$o0 Arros” 1r0yd Sew w088 AorosEDS Beb; ergof eF qodatr (RBI) Br-somr 399
B3380SEL ? ERE

(1) 08 e BEzered ;E] o

RS 3-@5-w

3) ;i?BbeS ésg?so

(4) 8IS 305D Bew Aoges 56D

ERE
35. As per the Budget estimates of 2024-25, the percentage of public debt in the GSDP of EEI‘:%“
Andhra Pradesh in FY 2024-25 is estimated as -

(1) 31.46% (2) 34.14% (3) 33.71% (4) 32.60%

SOGEBE ©Ges 2024-25 S50, 2024-25 €588 Ho58Y5S’ sogsBE GSDP &80, toes TS0
P ©oUT Jahedod.

(1) 31.46% 2) 34.14% (3) 33.71% (4) 32.60%

36. Which of the following are used for measuring of the high-power money supply (H) by RBI in India ?
(1) Currency held by the public + Other deposits with the RBI

(2) Cash reserves of the commercial banks + Other deposits with the RRI
urrency held by the public + Cash reserves of the commercial banks + Other
deposits with the RBI

() Currency neld by the pu5|zc + Cash reserves of the commercial banks + Time deposits

of the commercial banks + Other deposits with the RBI
FEBBH0S" ©RE-356 5oR 53 (H) Bk, Fos6” RBI 320 &scrated ?
(1) Eeo 3¢ &y 530y + RBI 5¢5 &3y 388 &Jregeay
(2) redess ergothe SNEL docen + RBI 56 635, 280 garding
(3) o 3¢ e SBEJQ + el erg0tO0 SO ?Oeéea + RBI & &3y 385 (ii‘“ﬁ%;

(WEO 2O &)y SO + Z)‘Eﬁﬁ5 WéOS'o{’J SSRGS Z)@sm + B’E%S:é &1533.30 D30 &3‘2?&13 +
RBI &ﬁCg (-.%55& 988 (f‘:ﬁ‘@é&g

- ERIE

37. Which of the following is not a method of measurement of National Income ? Eﬁ%:

(1) Value added method (2) Income method

(3) Expenditure method (4) Cost and Accounting method

Bod 738" erSad esaird) 593 et so:)&!S'E’?

(1) deos £AoD3 5K (2) escrah 568

(3) S50 5¢3® (4) By 3B eFoe3oh éfgé’}_‘

14 (©)
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38. There is no GST on which of the following ? %&%
i. Petrol and Diesel ii. Liquor v
iii. Electricity supply to consumers iv. Services of Charitable entities
(1) i, iionly (2) i, 11, iii only (3) i, ii,ivonly (4) All of the above
Léo& 636" 2630 GST 80 ?
oo sk Aad ii. 9K5/Sotsgas
i. m:ncmumdws;a Desogd JHor iv. Gy Moo WS
(l) i, ii S (2) 1, i, iii SovEG (3) i, ii, iv &S 4) ?;3;5591
39. As per the Economic Survey, 2023, which of the following statements correctly describe(s) the
trend of Foreign Direct Investment in India ? ERE
a. It has decreased due to less participation of the private sector. ;fii m

40.

b. It has increased compared to the prepandemic levels.

¢. It has increased rapidly without decreasing in any Financial Year after the telecom sector
was entirely reformed.

d. It has decreased due to a weak global economic situation.

(1) aandconly (2) bandd only
(3) a,bandconly (4) donly
2857008 5535, 2023, 00, GrOEBE0S" DB (855 Dexgntioo B0l 3o TAE D E5e(e)
D36:308 / SBIFTH0 ? —
a. ($003e5 Botio gPRrgSse BENSI® &0teod 38 Bfod. o
fEo |

b. ©Fo@o§ Lowwed’ FY 30 BOAA.
¢. @O0 Sollo: oo Noxsbaom&s 80758 O &8 $o3B B ST S o 2R
d. aaeno.mﬁaé PR0B B8 ;’36.38 soeson 30 SNod.

(1) a S500%0 ¢ SPE0 (2) b 3550050 d- ST SR
(3) a, b 358050 ¢ SR 4) dSrg

Which among the following statements is correct ?

(1) Balance of payments includes current account and capital account

(2) Balance of payments includes only capital account

(3) Balance of payments includes only current account

(4) Balance of payments includes only export and import account
5 300 PEL50S" DO $3BO ?

(1) 3D er5Boyod’ saoes P S500050 SOTOPS PS° oo

(2) D00 P08 STOGS YT STBa0 G000
(3) 3o erBEeE’ ¥0oLS rE SFERS Gotnod
(4) DYoD ergBHESE" ISP S0 BRSD §rE” SFE &otod
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41. What is/are the goal(s) of SEBI’s new move to introduce T+0 settlement ? IE El
L. To enhance liquidity and reduce settlement risk in the stock market. E’ =
II. To minimize counter party risk and enhance market efficiency.
Il Potentially reduce the impact of market volatility on settlement.
IV. To increase operational expenses for market participants.
(1) Tonly (2) I 11 only
(3) LI, I only (4) All the above
SEBIS'grr (38235 T+0 263835065 ooty (5775 o0 Bved 2
L (B4del) s5550BR Boistso 5000 I 57556° (e3booes 8% S8Y 8T Shosiso.

1L 0% o73l6'0 388 T°§ (Towof) S8rod) Shotstio B3:ks STByeS TSR Doseso.

I 36800 SrdeS et Hera) Sogrsyor Shodio. CRE
DOfg=

[V. 3585 grhrgsaets (2 QPO STsstEr Plinods Bositc
(D I3r80 (2) L I 330

I (3) LIIL I $m83 l 4) ;,;:J;:;l

42. Statement A : All India Per Capita Income for the year 2023-24 (PE) is estimated at Rs.1,84,205.

Statement B : All India Per Capita Income given above is lower than the Andhra Pradesh Per
Capita Income for the year 2023-24 (AE) (at current prices from 2014-15 to 2023-24).
(1) Only statement A is correct

(2) Only statement B is correct

(3) Both statements A and B are correct

(4) Both statements A and B are incorrect ,

TPs0 A 1 2023-24 $038)0°08 (PE) 3o grosdio Gy, $end earabo &, 1,84,205
“ouT Johedod.

Tsgee B 1 2 3ogo grostse $od errabe, eoginds 2023-24 (AE) 80130 estraibo Soif 859
(2014-15 Sooc 2023-24 355 (SRS o (¥s°50). g‘g&m}
(1) Tgargso A 5o 5350 EE=
(2) Tgergso B S 5356

(3) Soco T§argore0 A Sedai B 03859

el
(4) Bo Trggrgores A Sudaso B RO5 57
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43. Match the following Central Institutes establishe dunder the A. P. State Reorganization Act, 2014

with their locations. (Common codes for English and Telugu Versions) ERE
a. Indian Institute of Technology 9 1 Kurnool %%X
b. Indian Institute of Management "'.*"_f; i. Tirupati i
c. All India Institute of Medical Sciences’.” iii. Vizianagaram
d. Indian Institute of Information Technology iv. Vijayawada
¢. Tribal University v. Vishakhapatnam
656;3@85 o3 @5055;5%309'4 5630, 2014 o : DOm0 82§00 So o Hogesd el *aﬁe&‘s
20T J*,
a. ROGANHS g, LaTsed & BS° \ea i S8y
b. F0A0HS gy, EaTsed &P 5.;5@ ot5 o i, EoRd
c. &6 308007 g, LaTsed e Z:Ldgcﬁ DT iii, DeabSKSe EEE
d. 30A0%0S 3 Lges & '5}55\3 D 935%0&5; iv. DesooTee
e. RGeS 35595‘5003,0 V. JBPRRN0 Ole
Codes/S°Een : a b ¢ '_d
(1) i i il iv v
{ il v IV 1 i)
(3) 1 v ™ T |
4) ii v v il i

44. Which of the following measures is NOT typtcatly used to correct a disequilibrium in the
Balance of Payments (BOP) ?

(1) Devaluation of currency LF
Increasing import tariffs bt &
(3) Reducing govemmcnt spending on domestic projects

3800 ergBS) (BOP) & esdosodiong o e — Eod 36" D8 Freroeor %
EBBTROSEES ? (e
(1) 58 33&13;3 SRoD
2030

PESEEET FrT
(3) D03 D58 eReeOn S

45. How does the introduction of the Standing Dep&snt Facility (SDF) enhance the Reserve Bank
of India’s (RBI) liquidity management framework ?
ity in the banking system
(2) By absorbing surplus liquidity without the need for collatera
Yy 1

(4) By providing long-term loans to banks at lower interest rates

odoh a3re2eS 2208 (SDF) (53% Degeatsers ersBus debg e5oS (RBI) (535 0gf® J05es
S8 doyeot (B4 253830005 546 der AR08 7

(535 53 (DeBed) DoiStio IO

(2) (esonphE) 5580/ 85er (collateral) e:5:500 B0 Qrbeo B8;Ge3D (Rrodio oo
igi 3‘5&35 33‘305@ 55553 5})5_\,5 §53“’ eto malnte) 5"55*
(4) ergosons S 56 Set HYsOE Soereis ©olotito Ty
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46.

Which of the following is not correct regarding the railway project under Central Assistance
approved by the Union Cabinet for Amaravati in Andhra Pradesh ? @m..@
(1) The proposed railway line is between Errupalem and Nambur =

(2) The cost of the project is Rs. 2,245 crores for 57 km

(3) The line passes through NTR and Guntur Districts in Andhra Pradesh and Khammam
District in Telangﬂia

(4) The proposed time line of the project is 6 years

47.

eoIEHBES"D w5058 §no Soi Soo®isto eB3rAous Sogs Moo §ot B85 ErERE dopodod
52 (300 Te3E° DB HTH FHELD B 2

(1) P&T6S TSy BS AGoBo SdA Sorrtd $o¢ &0l
(2) ¥ @EE S5abo 57 36 Wess . 2,245 ey

(3) &e 6 S ez 35 €8OG3 BESTD M_Jt:,o 208050 Moceasrts 8?&3"6 BT Sobokn Beorend’R PIR0
> Dvodood

€2
G r
ot o5
%
]

fi’

rHS SeRbE 6 \o;’)éac“@a

(4) ey @

o

Which of the following reforms have contributed to the improvement of the Ease of Doing
Business in India ?

(1) The introduction of GST (Goods and Services Tax)

48.

(2) Removal of all foreign ownership restrictions in Indian companies
(3) Nationalization of all private banks

(4) Expansion of public sector enterprises into new sectors
PSSR¥S” Teroo DONEs Bovdistc BabeRs $od ok Omn, 28 B5re5dod ? ﬁ%:

(1) GST (S5:0:9e0 3000 239 :,_,-a;a) 5 2e3e80ed

(2) erodan Sondod” ey VBB diressTdy H0Les Folotte
(3) & ,T;:I:’Se.s er5ose e SHOTESE
(4) EBgoson Bogess ¢ Sord § HISleleinlme)

$_

Which among the following classifications of unemployment is predominantly correlated
with the agricultural sector ?

(1) Cyclical unemployment (2) Seasonal unemployment

(3) Structural unemployment (4) Frictional unemployment ERE
AeBHo ok, Bod S§ESEE’ DB EErort SyErab Gotos' Soogo $DA &od ? ERE:
(1) Séom Wotgro (2) Sorsore Ao gio

(3) AoyErE WS o (4) %3/ 3050 el glo

18 ©
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49. GDP deflator is the most comprehensive measure of mﬂatmn as it is the ratio of
(1) GDP at National prices to Local prices
(2) Real GDP to Nominal GDP
(3) GDP at Low prices to [Eih prices

(4) GDP at Current prices to Constant prices i —
GDP G566 638 308 56 o0 m@aﬁsg]%m ooty g0t BP0 S0 ag;
(1) erdab o 3¢ o0k L 6o 3¢ GDP §
(2) =5 GDP & 35805 x5 GDP &

(3) 553 $T0 3¢ S0k Q) $oo ;’EEDP -
(4) B8 80 3G 3oBako JBAS $8 $¢ GDP g

50. Chadalawada village where a Cattle Breeding farm is estahhshed under Gokul Gram Project under

(1) Guntur (2) Prakasam (3) Netfore (4) Srikakulam
o‘iﬁ\o‘b Ao WBeE™ RHS o @“Eg o8 3% &8y8 Fo (B5e3S DR o) Doyt Jokeds

SO [P0 2 Serkd 3od3S 2
(1) Kooeamss (2) %o (3) Sezsd (4) 3=nv0

51. Which of the following is not true about globallzatlon and its impact on India ?
(1) It has expanded trade in goods and services

) It has led to greater flow of Foreign Direct Inv estment

(3) Increase in exports is greater than Increase in 1Mports.

. =3[
SSoDEDe SHdatne JOe.:Eﬁtafm o0 BgrSo ?i,@of.} 308 ;)'*eSeSE 28 Jezo 560 ? gi' o
(1) 30 S0 3000%0 d Sosf Tedergdy D0oDod i
(2) 30 BB PG Dee WOE HIIRE D‘Gécoo&
. 3 EEE
52. Which is not a correct statement regarding Rytu Bazaars in Andhra Pradesh ? %‘\;;j;

(1) Rytu Bazaars were establlshed in the year 1999

(2) District Collector 1s the Co- ordinating ofncer of Rytu Bazaars )
( ytu Bazaar 1S managed Dy an ES

(4) The prices in Rytu Bazaar are fixed aiming to be around 25% above wholesale prices and
25% below the local retail prices

SOGRAIE ™ D gt Sowofod §od TS 28 ST 88 560 7
(1) B0 ety 1999 & Fdoseaans
(2) 3o ey ;a:i:;abou, Q50 2 5850

T e TS T O T 2
(4) D80 werEED Gt P e Soi3 25% oS o8BS DK 63 550 Ko 25% Sy
0B o508 DpawctETron
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53. Which principal methodology is employed by the National Statistical Office (NSO) as the
standard mechanism for assessing and quantifying the unemployment rate within the Indian

economy ? ERE

(1) Quarterly Employment Survey (QES) f&?ﬁ
(2) Annual Economic Survey s
3) Labour Bureau Employment-Un y

(4) Periodic Labour Force Survey (PLFS)

OB GUE Syt DO0b 5 ~L0o0N0 SONT SOHERE S08As BHONEE @ADL Kewros

$oseao (NSO) @ B SGB @Sre3s abo@rolion® &dariiged ?

(1) @378 &30 R3; (e356°59) (QES)

(2) TQ8 esBs 535

(3) Bwb 2778 JoTraioBooes-ABE N 53
(@) > 60‘15“5% Beob 370y 505 (PLFS) (35053508 6,8 4§ e56°s5)

54. A budgeting process which demands each manager to justify his entire budget in detail from

beginning is
(1) Functional budgeting (2) Master budgeting
(3) Zero-base budgeting (4) None of the above
, CIC
B0 DoREt B3 SoxB0 BGLR FNCe3 M08 oIt $590d 88 el b @!?ﬁ
1) 50838 exzedoh (2) 5795 exgedoh 7.
(3) #5-83% ugedoh (4) 230 =

§5. Match the following Special Economic Zone Production Units in (List-I) with their locations
(List-IT). (Common codes for English and Telugu Versions)

List—1 List — 11
a. Divi’s Laboratories Limited-Pharmaceuticals i. Nellore
b. Parry Infrastructure Company-Food Processing ii. Kovvur
c¢. White Field Paper Mills Ltd.-Writing and Printing Paper iii. Kakinada
d. Indian Farmers Fertilizers Co-operative Ltd. (IFFCO)- iv. Visakhapatnam
Multi Products
Bod (385 e308 woliered'D & Soprod (erdlor-I) & &) 3708 (erdor-11) 502 e0d.
eaor -1 e - 1
a. OID BTTDD E3E 3"’5&:‘(}3’5&3% 1. 3&:&3 ERE
b. 6 33r %6 Sou-DE e omoh ii. Yo i@ﬁ%‘;
c. BeShd 256 20éy BEE-Tedoh 30000 oedofl B iii. =& )
d. 30&a0S G55y $pBeb) F-e583S dWSE. (IFFCO)- iv. FPHNC
eTo¥ ety

Codes/S*Ees a b ¢ d
(1) iv 1ii i il
Co v w0 i)
) 1 1 v 11
4) i i 111 v
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56. Which of the following statements about non-plan expenditures of the Central Government is

orrect 2 ™
(1) The expenditure is on interest payments
¢ cxpendl

(3) The expenditure is on agriculture
(4) None of the above ERE
- 5 - -/ 3 < A - [ - 9 =
o (B80S0 B (@BerdESS (non-plan) B HOED Eob 5308 DO 3330 7 o
(1) B P& 56 DOOHOD g
L
(2) &8 9By 2 &0 93530553
(3) &= Py Jgraioo D
(@) P ipd
57. Match the following minerals (List — I) with the erstwhile districts (List —1II) where they are
predominantly available. (Common codes for English and Telugu Versions)

List =1 List — 11
i. West Godavari

a. Apatite

b. Asbestos ii. Nellore

¢. Ball Clay iii. Visakhapatnam
d. Mica iv. Kadapa
208 plEres (e - 1) 62 Eesor 0ol 8 dged (e - 1) $0Fe0d.

A | EIRE e -1
a. &35 gﬂ%‘ i, 3% Fosd
24 = .

b. NN ii. Serd

c. 53 iii. DeePdeno

d. s iv. 8&3
Codes/S*Ges : a b c d

L il iv 1 u )
(2) 11 v 1 1
(3) i i i v b
(4) ii i v i b
58. Statement A : Andhra Pradesh ranks 1* in the productivity of Oil palm in India.
Statement B : Andhra Pradesh ranks 2™ in the productivity of Mango in India.

(1) Only statement A is correct
(2) Only statement B is correct

| 3) Both statements A and B are correct '

(4) Both statements A and B are incorrect

TP A PEEBHE’ esond IS eTEEEE eSoRRE g 1% 3;:6066 &od. EHRE
Tgso B 1 grE55408° 57008 Sog eomisEEE” eoEdioge 2 S 508" &od. "ﬁ@

(1) Tggrgdo A S50 ?-503_&’){3 i

(2) sgrssso B SPES 5058
I (3) Bodd TgrsTen A a8t B 808

() 00 T5Pr5000 A So00R0 B moww 59
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59. One of the following is not the standard incentive to the industries offered by Government of AP
based on the AP Industrial Policy (4.0), 2024-29.

(1) Decarbonisation subsidy up to 6%
(2) 100% stamp duty reimbursement on purchase of land and lease of land/shed/buildings

(3) Reimbursement of 100% fee charged for land conversion

(4) Maximum capital subsidy of 15% of F oreign capital investment

AP Fr8@08 D (4.0), 2024-29 (55750 B0 36 D8 AP BEoc0 SO ESe0% eodod rsrals
“
eyt 20 ? ;%;@;
EYs
(1) dsREsS SA 6% 355
(2) 502 Soi'en 308ako 2/ /g5 Besd 100% o5 crged Bon 38

(3) & BV 2 PoTES S0 100% SO/ o

(4) DB Bo7oss 2exeds” Kogor 15% Saredss m‘:bé

60. Statement A : The Gol fiscal deficit R E for 2024-25 is 4.8% of GDP. %Egl
Statement B : It is higher than the Fiscal Deficit B E for 2025 — 2026. -
(1) Statement A only is correct (2) Statement B only is correct
(3) Both Statements are correct (4) Neither A nor B is correct
(PSOS A 1 gr58 055 R E 2024-25 95 S'ex GDPS® 4.8%. ERE
@565 B 1 30 2025 - 2026 B E &35 &en woisr §Ty D89, ma
(1) @56 A SoEdo 5336 (2) (3503 B S 5358
(3) Bok BEeSes 5332 (4) A 308050 B oy 98 =9

61. A person who has ultimate control over the affairs of a factory under Factories Act, 1948 is
called

(1) Occupier (2) Manager (3) Chairman (4) Managing Director

Fs500 B0, 1948 @Bsedo soyrs Sgsitoren eodss Jaboge SOA ély 3580 ger QOO 9

(1) esEodand (2) 36 (3) 35S (4) J3e0h 2oz
22 ©)
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62. Match the following irrigation projects (List — [) with the rivers on which they are located
(List — IT). (Common codes for English and Telugu Versions)

List -1 List —II
a. Somasila reservoir i. Cheyyeru
b. Thotapally project - ii. Penna
¢. Annamayya project ;e%:; iii. Manneru
d. Rallapadu E¥= iv. Nagavali
208 De3rotio FERe (e - 1) —e38 BoeoBods Sted (o — IT) $8Feyd.
e -1 erdler - 11
a. o8B0 Beorgaod i DogtH
b. Sesnd 8§ TR
d. ogare iv. o
Codes/S*Eeo : a b ¢ d
(D i ii iii iv
() i iv il il
3) ii iv i 1

@ 1 i - fo

63. Which of the following statements is/are correct ? .
a. India’s overall SDG score has improved to 71 in 2023=24. Uttarakhand shares the top spot

with Kerala, both scored above India’s overall SDG.score.
b. In the latest SDG India Index 2023-24, Andhra Pradesh is placed in the “Front Runner”
category. ERE
c. Arunachal Pradesh and Meghalaya, each with scores above 75, are placed in the EEggst
“Achiever” category. ) Bl
d. Tn the 2023-2024 SDG Index, Lakshadweep and Utta
the national average, demonstrating notable progress compared to other states.
(1) & bonly correct ) (2) b, ¢ only correct
(3) c, d only correct (4) a, d only correct
Bob (5SS’ STHB(D) B(R) ?
a. rEEBd0 Gt Suso SDG 5 2023-24 & 71 8 B80S0, ssorpol v o)
S05508, Bokr grostiFo Gl Inge SDG 5 5083 53 5 Jzaw.

) & b. o SDG fodasr 5088, 2023-24 &, BoGES “e0e5-6:5,5” BendE’ eoiseod.

BRS¢ ecoerid 936 5000 Boprecd, eSHe 75 Sol 3ops Ffef “edsb” Qe

éo{saacz;w.

4. 20232024 SDG 0355, o 5,605 & EBEEBL Sriex o Readaor Hasr
2565 BFom, 386 ogred Y FpE ] KO BEGoTow.

Ch absrgos _5265 ) @) b, ¢ 37ES0 FBSD
(3) ¢, d ST 908 @) 2, d SeESo 585D
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64. How many Rythu Bharosa Kcndral{'i%ffRB Ks) has the Government of Andhra Pradesh established
according to Socio-Economic Survey of Andhra Pradesh 2023-24 7

LD 10778 ) 2) 1.104 (3 33,120 (4) 53,580
'TEEE I I8 53 2023-24 (5556 oS5 Ba0850 20y S 25 Zores (RBKen) Doyé0
%5 3508 9

[ (D) 10,778 ) @) 1.104 (3) 33,120 (4) 53,580

65. What item(s) account for the di ﬂ‘eren;c;‘;f;s between GDP at factor cost and GDP at market prices ?

(1) Direct taxes and subsidie (2) Direct taxes net of subsidies
(3) Indirect taxes and subsidies (4) Direct taxes and depreciation ERE
530 S =6 GDP 30805 STTes 5o 3§ GDP o G JgTgTress D woo(en) 880 ? ;&%.y
(1) e S8ne0 3000w Sddes (2) 85 $Ddo g B30 Sl
S5 B0 e0 S00akw e

(4) D858 e obatn SESe

nomic Performance of Indian States (1960-61 to

_ visory Council to the PM, what are the individual shares of
Andhra Pradesh and Telan in the National GDP in FY 2023-24 9

(1) A.P-4.7 and Telan - (2) A.P-4.9 and Telangana-4.7
(3) A.P-4.5and Telangana-5. 1 (4) A.P-5.1 and Telangana-4.5

BTDZ0ED e85 Bod* 500 Seres B3 68635 Ik 09T & S 265y (1960-61 08
2023-24) D365 B8 2023-24 SR8 oI Sod erdok BAhE" SOQINDE S8 Beorres o
SI58MS Trer TS0 Jod 9 ;

[(_1) SOSHRE-4.7 SoB0%a Beorre-4.9 (2) e0GEEE-4.9 508050 Beorre-4.7
(3) SoEEDE-4.5 350050 Boomer-5,] (4) e0@EaE-5.1 500050 Boomres-4.5

67. According to AP Industrial Policy (4.0), 2024-29 one of the following statements is not correct
with regard to MSME sector in Andhra Pradesh.

(1) AP accounts for 9 lakh registered MSMEs as on F ebruary 2024 according to Udyam data base
(2) Majority of the MSMEs are concentrated in service sector accounting for 79%

(3) There are 28 exclusive MSME parks in AP

(4) The MSME sector is contributing 33.5% of GSDP in AP

_ EIEE
AP 82208 dgeise (4.0), 2024-29 580 oSS MSME Somro’ So2edod E_g;;"
S0 EE0Ses’ DB 35356 T ¢ b

(1) etSgdo Cerddd (S50 Pesd 2024 ¢332 AP &° 9 ofo S370S MSME e SN0
(2) MSME o8 2535 g75o (79%) Sadored® EEERY &0

(3) AP &° 28 38:8 MSME ¢nen &IOS

(4) AP GSDP &° MSME Soc o803 Srer 33.5%

24
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Which of the following statements is False ?
(1) Exchange rate is the rate at which the currency of one country exchanges for the currency
of -:mmr r-nnnh”u

(2) A direct quote is the number of units of a forelgn currency exchangeable for one unit of
home currency

] 208 $50508" DO &3
RENET | 5 )
e dod 35306 00 89y 7

69.

70.

(3) An exchange rate regime is the system by which a country manages 1ts W
respect to foreign currencies

(4) There are two major types of exchange rate re glme floating exchange rate and fixed
exchange rate

Sex esoés 2% Bio SBast) S0y 0578 B0 | e'ﬁmébs’@ & 558 Sew
2) aa& 65 538 o8 orres 5 O3 5ryd Jobiie 35% 500y G, 0" O
(3) DB% 5K Powodod B¥o B LB :)QSWW

(4) 57053 Ben Fess’ Totk BEs 550 &m0 : Pedoll SrEED Bexo SobAk YO SrEo
S

Assertion (A): Devaluation will lead to improvement in balance of trade.
Reason (R) : Devaluation will lead to increase m?p’r’ice of exports.
(1) Both (A) and (R) are true and (R) is the correct explanatzon of (A)

(2) Both (A) and (R) are true and (R) is not the cofrect explanation of (A)

(3) (A) is true and (R) is false

(4) (A)1s ralse and (R) 1s que &
Duses (A) 1 (535 Deoss SNosd Tedesg SSoSoesS LRSS TODR0B. B
T5e0 (R) @ (B35 Qoo SoR) odotoo G0 DBAEES D"&dmo&

(1) (A) 508050 (R) Bocr eo, 50050 (R) 50 (A) GBook), 585 D58e

(2) (A) $:6052 (R) Botsr eso, 5080 (R) &3 (K)__tﬁwéb 505 DS S

(3) (A) Dexo 5080%0 (R) S5y

@) (A) B 200050 (R) w&o

(1) Increase production in the State to USD 50 Billion
(2) Attract investments worth USD 10 Billion
(3) First time employment creation of 5 lakhs

4) First time entrepreneurship creation of 2 lakhs "

8od 636" 90 AP JogE) 5rsoss§00h Few (4 0)1 2024-29 o550 560 9 EE
(N U"copée &5\ USD 50 HOEE oo -~

(2) USD 10 moﬁsb DEUDS eIV SEYOBEA. T

(3) &&romr 5 ofe ;’no&% &R SoyS

(4) SOJOM 2 00 Sgualoss n

> ©)
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71. The part of investment (Increase or Decrease) which takes place due to change in the level

72

of national income is termed as _ %
EFS

(1) Gross investment (2) Net investment

(3) Induced investment (4) Autonomous investment

BT Fond® 5ty SEeomr woR e g (ite Bor SKxe) DD

WOLTED ?
(1) Jre eged (2) Jsvveperd
(3) (B déyed (4) S5ao, (B8RS vewerd

Assertion (A) : In Andhra Pradesh, the coverage of farmers under Pradhan Mantri Fasal Bima

Yojana has been increasing over the years. = E

Reason (R) : In Andhra Pradesh, si gnificant crop losses occurred to farmers due to extreme weather

events in recent years including floods, droughts and cyclones.
(1) (A) is true, but (R) is false
(2) (A) is false, but (R) is true

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(4) Both (A) and (R) are true and (R) is the correct explanation of (A)

TES (A) : oFEBES” (BTEso® $06 D> Gress @ 880 5338 KoSByTao ST

hid
SFod. %
- B
576630 (R) : soBB86" 36350 S0t 0red® 56, Eo:585 50805 SoP00 083 DSBS eSS

Sootrde Eeomr S0 ﬁea?.‘fainb:i:é S0y SaFew SogoTraw.
(1) (A) deo, 0 (R) &3y
(2) (A) 8%y, =2 (R) D=0

(3) (A) 3080 (R) Boir Jewo, 52 (R) &38 (A) & R53F DBOE 575

(4) (A) SoBai» (R) o eso, 080k (R) es38 (A) B $BsS ssen
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73. As per the second advanced estimates of National Statistical Oﬁ"lcg (NSO), MoSPI, GOI, what is
the sector wise contribution of GVA at current prices for the year 2022-23 for Andhra Pradesh ?

(1) Agriculture-36.19%, Industry-23.36% and Services-40.45% =
( : Z ~qU. 4370
(3) Agriculture-40.45%, Industry-23.36% and Services-36.19%
(4) Agriculture-26.19%, Industry-33.36% and Services-40.45%

S (He0Ss =B Kerol sorgoato (NSO), MoSPI So&s 3:08:3 wosTre (¥5°80 2022-23

BOSETDS (K0S 550 36 eoEeE GVA & DG Sorre griio 208 2 ERE
(1) 5350530-36.19%, $OE-23.36% 50050 5302-4045% O

(2) Sgraio-23.36%, H0@Es-36.19% So0co 500-40.45%
(3) SR a0-40.45%, SOES-23.36% Ho00is 2%e0-36.19%
(4) Bgrao-26.19%, $30F50-33.36% 500050 H5e0-40.45%

74. Which International funding agencies committed to fund the Amaravati Capital City Phase-l
Development in Andhra Pradesh ?

(1) World Bank and IMF (2) World Bank and Asian Development Bank
(3) World Bank and JICA (4) World Bank and European Commission
SoRHBES @058 Sghed bed P18 Dgides BIEFGERE woliEBoDS eosgdAL Aw
DEe0 3D 2

(1) B0 ergoks So00k0 H0IP (2) (555085 s 0B e e ergotd
(3) B0 ergot Sodaky Es° (4) 5503 ergolo Sodckn ciId Hakn BB

75. Which of the following are the major provisions of the Industrial Policy Resolution 1956 ?
1. Provision of licencing. ERE
I1. Expansion of public sector. fg e
[11. Emphasis on small industries.
(1) Iand I only (2) 1 and III only

(3) Iand III only (4) LI I

FOER0E DT Boso 19566° 68 Dwoedes D ?

Il (©3808EoK J5es. g

ML D5y SoES00% FPerdss.

(1) 1308050 1T SrEsdo (2) I 08 I Sogsado
(3) T 508ax0 I Som@sSo (4) L 11, 111
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SECTION - B
SCIENCE AND TECHNOLOGY

76. What is the key characteristic of black carbon that accelerates global warming ?

77.

78.

19,

(1) Itis a type of methane

(2) It is a short-lived pollutant produced by incomplete combustion

(3) Itis released by CFCs
(4) It directly depletes the ozone layer

7§ 55,8 ooty 3 Soogg ©Feso A ed T8 0fs Siscde Sked ?
(l) '5}& &5 Oﬁfpm il.,étd

(2) 30 sBoY™ SIS0 oo S0 Taads osds seniso

(3) 38 CFCo oryo Aesotse ul&.&e‘ix‘*ﬁ
4) 30 Store ﬁ,é“ S 65 Sedosinod

BrahMos supersonic cruise missile is developed by the joint efforts of
(1) India and USA (2) India and Russia
(3) India and France (4) India and Japan

*

CHEA
k HEA L)

EHE

@R BrBEIVE o 5630 De Sootnl H1E w50 330,
1) erEsdso So8ak o080, (2) grE8a%0 Bt
S
(3) &rEE3¥0 00> Fry (4) ¢

g = e = £
eS0T S8 e rS

Disease transmitting vector is not a Mosquito for which disease ?

2G/202

-y
*

(1) Chikungunya (2) Leishmaniasis (3) Dengue (4) Malaria

808 T8’ 5% t°s0n g 50 T 96 9
S

(1) DS (2) OB (3) Goitry (4) o8B0t

Which Organization regulates Genetically Modified Organisms (GMOs) in India ?

(1) Food Safety and Standards Authority of India (FSSAI)

(2) Genetic Engmccrmg Appraisal Committee (GEAC)
ey

(3) Central Pollution C ontrol Board (CPCB)
(4) Indian Council of Agricultural Research (ICAR)

() & mg ©ol Srocsdy a;q:nmj P godar (FSSAI)

(2) B3e38 30ed00h wesd £20e] (GEAC)

(3) -.)vE:) = \.:&.:ue JClooE3es Sooesd (CPCB)

(4) godand ¥ rﬂc«i S u@:,-\ﬁcsé 828y (ICAR)
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ERE

80. re located in mid latitude areas between tropics and polar region FZHe=
' (1) Temperate deciduous forests | (2) Coniferous forests Ef%
rass lands (4) Scrub jungles
050 SOOI (L3033 (EroTre 5045 Ifo Sogs e5o¥ @vowe,é“ 35y 8D
(1) & e500°0y BED (2) %OQJ‘S"U &iedew
f:: i;% ;% @ L?éz“,ﬁ ezdé,u

81. Geosynchronous Satellite Launch Vehicle (GSLV) launcfhers have

(1) One solid rocket motor stage, one earth storable liquid stage and one cryogenic szge ’
(2) First and third stage solid rocket motors and second and fourth stages liquid rocke ors
(3) Three liquid stage motors and one solid stage motors

(4) One liquid stage motor and three solid stage motors
£RTR0ESS 63865 erod 3rES (GSLV) oroiitsy I SOA &oerox 2

| (1) 2% 505 03¢5 BorerS &5, 2.5 0 Fteod (53 e 500000 &8 EoTeRE F ]
(2) Da0¢5e3 SoBOK SIS 5% 308 0°8e0 BTPeldy SO0 GG 00N °Y (@ TS
Irer8Y
(3) Boess (55 5% IrerE) So0aK0 .5 0% 658 I7ers
(4) 25 (555 &% Dorerdo SoBAk0 SoPes o8 ¥ Ierd

82. Match the pollution type with its major source. (Common codes for English & Telugu Versions)

Pollution Type Major Source
a. Air Pollution %%‘@ . Sewage
b. Water Pollution O s IL. ln&'ﬁsmal emissions
¢. Soil Pollution [1L. nggief chemical fertilizers
d. Noise Pollution IV. Construction activities
Feoy 550 TR HEFS Sareod $8dfod.
Sreusg 850 REPS e
a. TPk Peuo I S8 e (338)
b. e3 sreuiigo IL. FPOFE eores
c. 3o Teusgo I, SPEms JEoDo TEs0 g‘%{%
d. ¥ sPengo V. Qoges S OgEUrared 2
Codes/S*Ee : a b ¢ d 1

(1) | 11 4% 111
(2) 11 1 [ IV
3) I I I1 1A%
4) 1Y 11 I 111

83. How many core missions are included in India’s National Action Plan on Climate Change (NAPCC) ?

(1 s 3) 12. (4) 10
TEE SO0 GOSRE OO ST e ds (NA?CC) & IR B A0 (AKLD)
XRIETO0 ?

1) 5 @38 ) 3) 12 @) 10
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84. Population density is generally expressed as

2G/202

(1) The total number of individuals in a population

(2) The number of individuals per unit area

(3) The geographic distribution of the population
(4) The number of individuals within a sample area

LT OGS JTEEINT JT° :’jqéa"@odaaz’:’é;@;o& ;rﬁﬁq

(I) "‘?U"C,TCJ 3.13&3'\ \S.fu m-._«%?S

(2) AW @ céoggw S50 Sogy

(3) aorgr Bl RV Hoded

o P - R .
4) St FosodS'S S5800 Begg

85. What is the primary environmental concern associated with Genetically Modified (GM) crops ?
(1) Cross-pollination with non-GM crops (2) Reduced pesticide use
(3) Increased yietd (4) Soil degradation
23gIC Sty TehN (GM) Lotseks Horofonss Eress Sogsoe el E¥5 D0e3 ?
(1) GM 50 5000 § S-S RO (2) DB FESo Siftio
(3) aroed 2oKEe @) Jo i
86. Match List~ I with List - Il and choose the correct answer using the codes given below. (Common

codes for English and Telugu Versions)
List — I (Biotic factor)

a. Humans ?g‘&_ﬁg L.
b. Saprotrophs EfS L.
c. Reptiles
d. Camel

o - 18§ =do 1 S 503
wlier - I (2B3r38 g5l)

List — II (Characteristic feature)

Recycling nutrients

Top order heterotrophs in food chain
III.  Less urinating animal
IV. Stenothermal

2y Gots adys S&oss esdrhod 2B HIrgrrd) Joisod.
e — 1 (o8 ofre)

a. SrSHeo EIRE I Fsrenss O(‘}éun Schdo
b. 5@ O L 56 Paoiod’ erf el a8 s He
c. $0%yFres (Reptiles) L S59 S JHYS ..Jf.,- 220805
d. eod IV. 35658
Codes/S*Ees : a b ¢ d
(1) v 11 I 11
(2) I | I11 1V
(3) II I A% M1
@) AT [
30 (©)




87. National Green Tribunal (NGT) was establgsiged to

(1) Monitor industrial pollution levels
(2) Enforce emission standards for vehlcies

(3) Handle cases related to envnronmemaj pgotectlon and pollution control

(4) Regulate water quality in rivers

3558 A @3233555@'5 (NGT) 88550

(1) SPBERY ey oo HE5RoNEo

(2) TTTODH SE EITEFOS o0 Ba‘bﬁo

(3) BO5S0E DOBEES S0 Sevs; NOOOMIFIS SOROGONS SROOBO SOMPODEO

(4) 3008 Je3 Teagtido Aabodostio

* : -
88. India’s National Action Plan on Climate Change (NAPCC) aims to address g{;\@z

(1) Only greenhouse gas emissions

(2) Mitigation and adaptation strategies for climate change

(3) Biodiversity conservation s
(4) Air pollution control

TEE0E STE0P FrESTEo Gy, sso&ob

.......

2G/202

Sécsm $e79% (NAPCC) 2e39 3050080 oforr

FIAVESTTA ER[E

(1) ASSTR Tais emoros SPEo [
@) _>orste srono YT BB SEROE? 500
(3) £530¢s gacsgaa <

(4) Trah sPedy Yoo

89. The terms ‘Petya’ and “WannaCry’ are related to
(1) Mobile apps | (2) Ransomware ] (3) Virtual reality (4) Mini Satellites
Dery’ $0a0 ‘TITHE &3 Hores B8 Ho20doSd.
(1) 3086 sSeo [(2) oo ® 30956 BairDed  (4) oD e3eSy

90. Subject that is not associated with Ayushmti‘rBharat Digital Mission
#¢ (2) Health ID

(1) Arogya Mitra
(3) Sand Box ¢+ (4) Healthcare Professionals Registry
eoﬁmﬁ.‘c S g5 &e2trd oBSE vowoso & DB
(1) 9555?13 oih (2) G5 ID
(3) & 23"5‘3 (4) e:sﬁfﬁs RobEe VPHEDO 632@3
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91. Which of the following is NOT an example of a bioremediation tei.hmque ? iﬂ EI
(1) Oil spill clean-up using bacteria : G
(2) Using plants to absorb pollutants

[ (3) Burning contaminated soil ]

(4) Composting organic waste

808 738 DB BIBLAELES BGE &orrtes s ?

(1) emgSBosrs &X@BrAoD DoBS SS008D HPNSHte

(2) S‘@J?ﬁﬁ sOTre Foforad I05OB eSBrhottc
{1 O §e.oong'§§~.:5 .;fneim 50 wuc ]

(4) Dodaw ;srscgva, :‘50&3‘3%5 Baeso

92. How does In-situ bioremediation differ from ex-situ bioremediation ?
(1) It is more expensive and involves transport of contaminants
[ (2) It treats contaminated material directly at the site )
(3) It uses chemicals instead of micro-organisms
4) It requires more excavation

38~ BBTBAERS, 28y~ BTFBRANS Mod o Jo= &oenod 2 '_l:'!l 75
(1) 30 o PEBIO SoBAN Seobgro Srerosd $9A dotaood
(2) 30 3o PAESL ) 3G owaéﬁac‘é BOPCER) eFHOBR00
(3) 30 AR OO0 ém:“’obnwm &DATAD

(4) B8 55608 Sc¥o BHTo

93. Which of the following countries is/are legally bound by the emissions reduction targets set by
the Paris Agreement ?

(1) United States and China (2) India
(3) European Union (4) None of these
TR e$yolo Tro AFFoBRAES o0 SAoD oFet Bod B7vd. DB(D) Segeion Seged
&0B (o) ? e
(1) S0RBE §efy o000 3 (2) mwa‘éo B
(3) OHTEBO0S ARk (4) D3NS
94. India has the largest installed wind power capacity in the world.

(1) Fourth ) (2) Second (3) Eighth (4) Sixth
PSOBOS ST GFOBRIO &8 B FoSLAY I KR éobd.
(1) =rewks (2) Bos (3) e (4) e65
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95.

96.
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What is the primary goal of India’s National Clean Energy Fund (NCEF) ?
1) Promote coal-based power generation

[DON emissions

(4) Improve forest conservation practices _E]'RE_]q
ressBd erBa 85 258 $o& (NCEF) @oo, 608 of50 22063 ? ﬁﬁ

(1) &5 B DsiogS &BD Pidyironcso

(2)_ DS0058 306 s rrr & Gyronto 500 S"Cﬁzyf) ST 008 BROSEO
(3) 3o goGTre K}i}dirrrwcl flotn elo) :

(4) et Sotes HEBLOI FoBBGSE0

Which International Agreement does not focus on reducing greenhouse gas emissions to combat
climate change ?

(1) Montreal Protocol (2) Kyoto Protocol

(3) Paris Agreement (4) Basel Convention

D woSEHAD e.3080 TTHCE SPEnER PGS ASTTR T amoos Blostod Sy
oS ? '

o E=EE
(1) Sroedahd 2fes'sS (2) S5 @reS’sS ﬁﬁ
(3) F0R eyoso (4) erdEIcSS
97. How many Sustainable Development Goals (SDGs) has the United Nations established ?
L) 17 | | (2) 10 (3) 12 4) 20
DECESAD IRy MRS LB oFTeR ($Pe0d B3eSoces f'dy) (SDGe) 2076 Daod ?
Lo 17 (2) 10 T3 12 (4) 20
98. CITES (Convention on International Trade in Endangered Species of Wild Fauna and Flora) is
also known as .
(1) Geneva Convention (2) Kyoto Protocol
(L(3)_Washington Convention ) (4) Paris/Agreement

99,

CITES 2 (00800023, eoferec $o0abo 3§ eréves® SSBTHAD Telesgo D S3H0) 3¢ U
e,

(1) 8Dz Hsr¥o (2) S'5eS @SS

(3) mzmgs $RrI%0 (4) FOR eoso

Which of the following is an example of an environmentally friendly technology used in agriculture ?

(1) Genetically modified crops | (2) Organic farming

(3) Pesticide spraying erulizers

od Te38° ;55352”‘033045: ESATNOD SN WSS 3‘0@@&‘.&& A8 &S ? g ?
(1) essog00r S8 BodS Soted (2) Do B g a0 b
(3) DSoKB0L0e DA (4) B0 D20
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100. What is a global issue associated with the trans-boundary movement of waste ?
(1) Reduction in greenhouse £as emissions
(2) Sustainable waste management

(3) Physical transfer of hazardous waste for reprocessing or stor
(4) Elimination of deforestation and desertification

M FO ROTE esS0 S8BT 30838 &) (503 3555885 HD0ed 2
(1) ASHS o Dsgso Shod

(2) m@o’:}fé e 5.35523"8’3

age

[ 3 5&auch e Dok 510 BRTEEER0S S3Tes0 T b8 IAbee )
(4) & réiso Bobaks deb8tiese Deryes

101. Which of the following methods is used for solid waste disposal in urban areas of India ? %&f
(1) Composting

(2) Incineration

(3) Landfilling

{ (4) All the above
FOBDEE D46 (Foord’ o3 Sy FESH

oA OE% (GFyesd) 308 638 &sBrAod Rty
28/90 92
(1) SoFRoh (Sorgsnes 2y o Sairds Baes)
(2) &%
(3) &5eGRof (Ssros Kotes® TtycEo)
LB 555 )

102. Assertion (A): Grazing food chain begins with dead leaves via herbivores to carnivores. ERE

Reason (R) : In grazing food chain autotrophs capture energy and transfer to herbivores. & i

(1) (A)and (R) are correct and (R) is the correct explanation of (A)

(2) (A)and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) is not correct butm correct

TES (A) 1 Do &5 Food (Reon D) SIS0 e S SogiRo TS0 Sood
SFCT 0 388008,

Lo
. 0

5030 (R) : o8 55 Fensnd® e eFSeo E8 Dotrod FTUtes 0od Jrow. ﬁ;*

(1) (A) 508050 (R) 5352 3500c% (A) & (R) 3B D35

(2) (A) 308050 (R) 833 50 (A) & (R) 98 DoEs 568

(3) (A) 3858 520 (R) 5338 52650
| (4) (A)IBS8 5°¢0 5% (R) SRR
= —

LTS
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103. Which of the following is NOT an alternative to convenﬁbnal pollution control methods ? EE

3%

(1) Green technology (2) Bioremediation @ =
(3) Carbon capture and storage | (4) Incineration of waste ]

0B Te38° DO FoETrad Sessy IaDoEE HEBEELK BEFBA0 S0 ?

(1) AS Ssnyedd (2) 2Br3WAEDNS

(3) Gy Soiares SoB0kw Jeg { @) :)gc“e:m 9@9630 )

104. What is the “dual burden” India faces in public health ? .

(1) Rising rates of both infectious and non-commumcabﬂe diseases

(2) Overburdened doctors and healthcare mfrastructure

(3) Lack of insurance and financial access

(4) High rates of both obesity and malnutrition

BEO 00" rOBOH0 JE05 e - Cx0s EF00” D063 ?

(1) &0t 50805 HoEMOSR) (TPA-ExurgdSend) Tgioe BeoKse Bey
(2) ©B¥ groo &) eogen Sodakn by Kot STOE SEoJaire
(3) D3> So8a% 08 ©OBEre (ATSD) SEFco e

(4) SaT000 So00%0 FREHE & 5o Sockoes cmgb @asfsaﬂ]

.....

(c;s;r ;re i ns’r; l EEE
rip irrigation ot
- 1t

(2) Chemical pesticides

(3) Flood irrigation

(4) Monocropping

Sorgiiercd PORIPOD S5Srao @k, {5, (Sfmapépﬁ" N3 §'68 &3y @rorod’) Showe
CIDES O 2
(1) Doo D50
(2) BIraHS DHoKS0E

(3) S5 Dedrcotse

(4) Der 23 Hoexso &8 s’ Sodotinty (Rra s hoh)

106. Which of the following is the primary goal of India’s “Mumcnpai Solid Waste Management and
Handling Rules, 2000 ?

(1) Promoting waste segregation (2) lncrcasmg waste generation

(3) Reducing waste recycling “4) Suppomng landfilling

grESG¥0 cﬁaogg, ‘32002056 FHE I 5383065 o8 o.ﬁso&oﬁ 8>y, 2000” Book) (@rESE o §©
208 >e38° DB ? ERE

I (1) ?0’50 eS80 @Eﬁmo (2) S5zo &SyBR oo ;I:il i
ST R e (Ow50h) Showto  (4) svéo&q;@oﬁm FSyproio
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107. Statement A : Natality refers to the birth of individuals in a population.
Statement B : Natality rate is expressed as the number of individuals produced per female per

unit time, ERE
L (D) "Both statements A and B are true I 'fi] <

(2) Both statements A and B are false

(3) Statement A is true, but statement B is false

(4) Statement A is false, but statement B is true

TGN A 353850 &30 wrerd” S50 HEREIO BrDR08.

Tsamgo B : 2.8 el 95aai08” 18 § Hood &8 Saberds Yo Sopg exsisss S EEA%%
S5asBoueeisod. ' [Of =

G0 TPrsrey A Sobakas B 8859
(1) 3o §RTg e ajas

(2) Soto TgargTren A Sodain B EJp

(3) Fgarsso A 988G, TR Tggrgso B Sy
(4) Tgamgdio A Sy, S0 Trgde B 5858

108. The “ozone hole” is primarily caused by the release of _
(1) Carbon dioxide (2) Chlorofluorocarbons (CFCs)

(3) Nitrous oxide (4) Methane

“LES Soitso” P 82 DEaGe 505 S\EE008 2

(1) S8 CarSHéE (2) SEYE w5Ewe (CFCe)
(3) 3R & (4) 23S

109. Which of these is not a biodegradable waste ?

(1) Vegetable peels (2) Fruits (3) Wool (4) Tin
I8 28 er§oars SionEd (edrdficend) sigo s ¢
(1) &romad S (2) Bo () &y (4) Br50 (£35)
110. The concept of sustainable development was first popularized by which report ? g Ej
(1) UNDP Report 1992 (2) World Bank Report 1985 T

(3) Brundtland Commission Report 1987 (4) Rio Declaration 1992

0P8 eDH)B eSS Boodieo D IBBE Tryor @Brodse Fedesd ?

(1) UNDP 2385 1992 (2) 90 ergoo JIBE 1985
A3 @3095&:"503 050 DIOE 1987 (4) BB GECRS 1992
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111. What is the main advantage of organic farming over'conventional farming ? I%%Elﬂ

2oy
-

(1) Increased pesticide use Ofgd

(2) Higher crop yields in all conditions

(3) Reduced chemical input and improved soil health

(4) Increased greenhouse gas emissions
FoEEraD SsErabo Koid Sodal SsIaho Gk, BFTS EErEve D063 ? g{g
(1) D500 TEES DS .
(2) e 30R0ed ey Sot BIbnd

(3) SIS Tes¥o ifeo Mobuko Bo esB o mmsam
(4) AR Ak eTores DGO

112. Biogeochemical cycle in which the main reservoir is not the soil

[ (1) Sulphurcycle ] (2) Nitrogen cycle (3) Phosphorous cycle (4) Calcium cycle
2 ArIBIINES SEed’ Jo e duoeiadd S 2,

\\\\\

(1) o6 3go (2) eSS SEo (3) 29%.560 Sigo (4) =dabo SEo
S SRS s o

113. What is a key goal of sustainable development ?

(1) Economic growth with no concern for environmental impacts

(2) Ensuring social equity, economic growth and environmental protection

(3) Limiting global population growth o
(4) Promoting environmental conservation over al%e]&e

3oR0 ©D30 ¥, Lo o0 D263 2 3

(1) Sogsdes Lerare $8) Jeroed HedoidB) ey ;so)cg “

(2) Frsorss TSSO, eaw 00 So7s58en SBEEEED Catooid

(3) 550 esrrgr BSOS $OWiso JakxEo

(4) ©2)e3508 Jo7gstEs DOLFERe BFSyrotito

114. State that produces highest solid waste in India y
(1) Maharashtra (2) Andhra Pradesh  (3) Uttar Pradesh (4) West Bengal

et Tn - ool SO 03 STOD Y 30 ogo pode
(1) S5y (2) esode (3) &85 335 (4) 38y3> Bord
37 (©)
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115. What is the primary source of air pollution in Indian cities ?

116.

117.

118.

119.

(1) Industrial emissions

(2) Agricultural practices

(3) Residential waste burning

(4) Automobile emissions

OB SKE’ ek ool BT Soreo H20ed ?

(1) FOFWS emores

(2) Sgurax Seeioan

3) J=s SgTeds sPentio

(4) TTo (66 S0Dd) aaoes

Which of the following chemicals was released in the Bhopal disaster of 1984 ?

(1) Chlorine

(2) Methyl-Isocyanate (MIC)

(3) Ammonia

(4) Hydrogen Sulphide

8 (80b Sahres” 1984 & £°3& D58’ Do edsd DG

(1) §65

(2) BBS 235 (MIC)

RV IOy

() e3mdalr

T
(@) TEed $TE

Which of the following is not one of the three pillars of sustainability ?

(1) Environmental sustainability

(2) Economic sustainability

(3) Social sustainability

(4) Political sustainability

80B Te36° DB RES Book), 5o Soared® Ll Ty ?
& ¥ A s

(1) Sogsces m?gde‘j

(2) &8s mopos

(B) s s

(4) cesSab SoRos

What is the primary application of bioremediation ?

SRS

' OfA10))

(1) Air pollution

(2) Soil contamination

(3) Noise pollution
BABITAGERS ook, (g8 DA 38 ?

(4) Waterborne diseases

(1) Traio srenlge

(2) Jo SPe050

(3) % SO0
CR in IUCN red list refers to g&%@

(4) e orgo° 58 gm0

(1) Extinct in the wild b

(2) Critically extinct

(3) Endangered
IUCN 280 erderd” CR 322 552x908 2

(4) Critically endangered

(1) e&d6° eosbodDos0d

(2) B35S wosbodStonod

(3) ©o8BodrTHo
38

(4) BS BIFES eod
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120.

Which of the following is a potential tipping point of global climate change ?
(1) Loss of Arctic ice 2 Reg;i]ction in CO, emissions
(3) Increased deforestation (4) Decrease in solar radiation

Bob 36 (5508 TEIEE S8y (Feod Toe5 Bos) o?xi:;gﬁﬁiagcﬁ raxoes D6 ?

(1) 6638 Hooidd> Sio (2) CO, &zore 870
(3) 2BAS el DET oS (4) 6 D888 SiKGe
EEE
121. The mission of the Ministry of New and Renewable Energy (MNRE) is ﬁﬁ:
a. Energy Security d. Energy affordability
b. Increase in the share of clean power & En&rgy equity
c. Energy availability and access
(1) Onlya,bandd (2) Onlya,c,dand e
(3) All of the above (4) None of the above

G B0 HIETSE 3065 0@ T (MNRE) G0, o850

a. ¥ s d. ¥ S0
b. (§5) 556 TerS® DK g i e. ¥ K:;Sréeb‘de
C. 8 ogiS So0aH0 eoere
(1) a, b Sodo%o d Sovigdo (2) ajc3d SoBaks e S
(3) 25 @) 2D
122. Project that is not associated with International Solar Alliance (ISA).
(1) ITEC (2) ISTARC (3) OSOWOG (4) KUSUM
s}o&JEﬁ&mé Derb ©oaho) (ISA) & Sowotio 8 S8
(1) ITEC (2) ISTARC 3) OSOWOG (4) KUSUM
123. What was the primary purpose of the Air (Prevention‘and Control of Pollution) Act, 1981 ?
(1) Control air quality standards (2) Regulate vehicle emissions
(3) Promote renewable energy sources (4) Reduce use of chemical fertilisers
TUOI (Sreuly U Sobcin Jahoden) $&0, 1981 Mb ErPEE é@-ﬁo Da0ed ? %E

(1) ™ Treagd PETeTos dohoBoisto (2) S aarorese AaboBosiso

(3) DL F06S BICve PSroito (4) SRS o TEEo BRoito
39 ©)
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124. Match the List — I with List — II and choose the correct answer using the codes given below.

1285.

(Common codes for English and Telugu Versions)

List—1I

Type of Solid Waste Management

_mgm
FaEL
EFS

a. Incineration

b. Pyrolysis

o

. Plasma gasification

=W

. Composting

List - H

Function

2G/202

I. Conversion of recyclable waste to carbon based fuels

II. Process of burning waste
lII. Exposing waste to extremely high temperature
IV. Process of décaying organic waste biologically

e -1 & arder — 11 5 5028, $ois 0xodys SESKL &3BrAol 533 SErGad) JosFold.

ho -1 wdor - 11
POE BT i S¥o A
a. 8se [ DIBRIBTHIEHESAS Sy S8y eSE08 FoGeorT
:@{E S0
b. 250D B 1. Ssopess 8y @dak
C. Py MgRHERS M1 S5es esids eFNss Hodoho
d. 5o2oh IV. 20fa0 ssgoss dsmgsson 3osdh @b
Codes/S*&es : a b ¢ d
(1) AV I I 11
(2) I I m 1
(3) I m I v
4) vV m I

Which of the following bioremediation techniques is used to treat oil spills ?

(1) Phytoremediation

(3) Bioventing

Wooth Dotierosd B IabaRd Fod edé’ O adrddodalng SHO

(1) e5BoEABS
(3) 2@r3oeloh

(2) Bioaugmentation

(4) Mycoremediation

EOGATAYE ?

(2) BBreR; 0850

(4) BE'TWAB0S
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126. Match List — I with List — IT and choose the correctanswer using the codes given below. (Common

codes for English and Telugu Versions)
List — I (Solar Park)

Hybrid Solar Wind Park Ramagiri

Ananthapuram-I Solar Park

Kurnool Solar Park

d. Ananthapuram-II Solar Park

oo

List — IT'(Capacity in MW)

R,

1. 1000 e
[ 160

1. 1500

IV. 500

Do — 19 erdee ~ 11 & $6Fenod Sobako o aaas §&ox G0 IBS SSPETTy
JoioEod.

Do - | (Ferb 36) pho - mwaés Fissgs0) ERE
a. 5o P& Ferb Dok I, I 1000 o
b. esotssSo-l b 3’53’ IﬁU -
c. So™eo P 36, III FSDO
d. esessto-ll Feb >, V. 500
Codes/S*Eex a b ¢ d
(1) 1l m 1 I
(2) 1 I I
(3) 1V I] 111 21
| 4 i 1 vV J

127. Which of the following is true about the “Clrcular»ﬁconomy g
(1) It focuses on reducing the use of fossil fuels
2) 1t promotes the reuse, recycling and repair of matenals to requce waste
(3) It encourages linear economic growth
(4) It focuses exclusively on reducing carbon emissions ERE
HTFC 6P I3 (360 506 I5B) Bowodod§ed Te3S” DB Jeo ? F@%
(1) 35 3ere gogmre DIBIT) SROBECD Lo BEBCD
X S5O0 BROBCTRS SIS DD 50, DHOTICITTO (DDZON) SOOI S0 BIO
RPSrau0d
aa G ORIy (SNC00) G508 200 @ty
30 TGS GEoe SRV DBEOT Sy 000

128. Which of the following government initiatives aims to control industrial emissions in India ?
(1) Swachh Bharat Mission
(2) National Clean Air Programme (NCAP)
mradhan Mantr1 Ujywala Yojana
(4) Atal Mission for Rejuvenation and Urban Transfomlatlon (AMRUT)
grOSH0E’ S ($08 @awﬁ SEESTeS” 08 :}uafanaag Eorer dabo@ois égBosndod ?
(1) 35 266 2055
(2) 2500 5 Jowd Fre (NCAP)
Lﬂ) @.’3:5“&53500@’9 €38300 S
(4) DBLoZSSO Js0Ak0 Bees 038N 5o etad AWk (95%S5)
41
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129, Choose the correct statement.
A ] ] 0 S E ’ - e ' l 1 ts

Archea are a type of producers who use energy rom chemical compounds )
LUIINCTS 4 CITOLIOPIS dDIE TO pIoce

4) The stab!hty of ecosystem depends on consumers E%{_I%]
SO (56 o8l i
(1) De8 sorsstses He5:96° 505y Bogen m‘:&)_'?ég&,&u

2) SO00" @38 STA0S SIRTTO 500 Fo EBCTNoS o8 SEIoN &S\STten )

(3) AVABFHTSoe0 B30 eﬂoJ‘CS‘u\ &G IADR 30 e

4) cocs‘"s;jde* X)éuq_ Bk rgd?jf‘O wwuﬁjmf(ﬂ“d.z&a.) BRSNS &otxad

130. What can be considered a natural source of air pollution ?

(1) Factory emissions (2) Power station smoke

(4) Automobile emissions
rongegs Sareo e50) tjn.m) €565034 :L“]

(D 2 gfé Qf:gsvw (2) 535 RS i
(SRR (4) 558 eroren

131. Match the following : (Common codes for English & Telugu Versions)

Waste Type Appropriate Disposal Method
a. Organic Waste I. Incineration
b. E-\%raste EE—E II. Composting
c. Hazardous Waste Of =t I1. Landfilling
d. Broken glass pieces IV. Recycling
S8 65 o 388 8 Fofiod (disposal) ;’3@@0 266"‘*‘&\0&1
5% oo Sonod (& ywé) ¥S5O
a. 2o Bah Ssoren I. 8550 ERE
b. &:-39 1. 9orgiionss 37 20 $aE e
Booe (S050R) 0
C. EIFESE Sygres I11. e Kootes® o (50&280h)
d. SASS e SHen IV. 3386 dDBxiic {&oéofﬁ

Codes/5*Eew : a b ¢ d
(1) I 1V I IT1
(2) v 11 ITI 1
3) i v 111 |
4) Y 11 I 11

132. Ayushman Bharat primarily aims to provide healthcare coverage to which group ?

2) Rural and poor populations
enior CltiZens
(4) Private healthcare providers

S FPES (HEAsor S8 &b Hg vosEes: eoBosto SEOmP LS ?
(1) Z)*hm S30Gs-SEHS Lotooeres
(2) =208 500050 2 et

(3) a3 NG (OIS eJes))
4 Laz),ésog Sowoiso 8D @5‘?1: SoUge Pordes (, @3&5 886 g TIER)
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133. Assertion (A) : CFCs are greenhouse gases that contnémte to climate change and increase UV

radiation on earth. O ERE
Reason (R) : Chlorofluorocarbons (CFCs) are man ma@gases used in refrigerators, ;El "}i‘?

air conditioners and aerosol sprays.

1) (A)and (R) are correct and (R) is the correct ex laamon of (A)
(2) (A)and (R) are correct but (R) 1s not the correct explanation or (A) ||
) (A) 1S correct but (K) 1S not correct

(4) (A) is not correct but (R) is correct
55 (A) : CFCes ASFD Trasodes. 39 TES8es S6neth 85te Jrom $50a g0 2
UV 886305080 Dosharaw.

e (R) : §68' 58 0es (CFCen) 8Etes, Dok, gp&:wm So80%0 NS (s
EBTROS SPSY D&@ ?mmw .
(1) (A) Sodax (R) aaas:s 328050 (A) & (R) £33 ;');’Jdm

(4) (A) 6335 0 (R) VS IVA

134. Assertion (A) : National Biofuel Coordination Committee needs to approve use of surplus food
grains for production of ethanol for blending with petrok
Reason (R) : Farmers are at risk of not getting appro@ate price for their produce during the
surplus production phase. Dqg
1) (A)and (R) are correct and (R) is the correct ex Iaﬁaﬁ,on of (A E}p“"

(4) (A) is not correct but (R) is correct
TES (A) : T8 Sedmd 35S B Dives &S e AT erdab &5 3069

505505 568 5378070,
030 (R) @ otoew adhg &588° BB B30 EGBOR DTS GO 00NV P80 &ol.

(1) (A)Sobase (R maf‘é":} 558050 (A) & (R) 5353 D55ed
(2) (A) 3’3360‘533 (R) 5653 52 (A) 8 (R) 388 35683 576
G) (A) SO0 S (R) "o 565
(4) (A) 030 =6 D (R) 3330
135. Which global summit led to the adoption of the

(1) Kyoto Protocol _
(3) UN Climate Change Conference 2015

U
D 550 oK DS (ﬁgaaé 2320 eS) ‘B (ST5E0 9e38) 217 S0k “OB> & ‘ﬁ" <53
(OB (55635) SAFBOIEOR TB8S oa ?
(1 'é'“éeff eSS (2) Qb:&&:eﬁ 1992 ]
(3) UN a5 Jof 5,08, 2015 ( oG ©008) 2000
136. Pollutant produced by vehicles that reduces the Oxygen carrymg capacjiy of Blood

(1) Sulphur gas (2) Carbon dioxide (3) Nitrogen oxides | (4) Carbon monoxide

ﬁ

TITO OG0 &S DS J ey G0 5o Baok) esdyed 37D P00y BRR0E ?
(1) sofTaed () spScarmE () peSenm (@) sedsvos ¥
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137. Autonomous institute under the Department of Biotechnology (DBT)
(1) Central Food Technological Research Institute

2) Central Glass Ceramic Research Insti

(3) Centre for Innovative and Applied Bioprocessing

IR

E>EI00e5 &5f wxBrdsyed (DBT) 8ol Ssabo 389G Ko R0 (e300 39erses) E-EI o
o = 3 .:’“.
(1) od HE Szyosd 526, Fogearses
(=4 w &2
(2) Roed el 2078 E26, 35BS
(3) 20t 36 3513635 ol wd& BT bR
(4) Doead $6 veugers wol 598506 exoired

138. Match List—1 with List - I and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)

List — I (Pollution) List — I (Pollutant)
a. Marble Cancer I. Methane
b. Biomagnification  mrE II. Nickel
¢. Green house effect i\%_x I1I. Sulphur dioxide and nitrogen dioxide
d. Lung cancer et IV. Chlorohydrocarbons
erdler — 1§ wder — 11 5o 2028 3ot 0ndys FBoms a8BrAcs 03 BITFTRY Joiolod.
o L | (senio) o - 11 (Sre0i °U50)
2. 35tind s755y6 L 288
b. exBrsrMasHS 1. 33
c. AS ™D Berso L 26 EATFHE Sodatie 35S EArFHE
d. &20880 sy IV. 8 Es gy
Codes/S*Eex : a b ¢ d

Co 1w ] )
@ m T v
3) noom o1y
@ v m un

139. paigns was launched to improve sanitation in India ?

(1) Swachh Bharat Abhiyan

(3) National Tuberculosis Elimination Program
(4) Mission Indradhanush

=]
8883508" 808 438" D wer8iris BTody OB BoCUbBEIES SCcBomrts ? ﬁ%-;‘

1) 50 G708 GcoT: | N

G0 OO &3 SO Qs
(3) e&o% oo AT SE58500
(4) DS FoE3eEBsD, /
140. Anganwadi worker is a functionary of which sghege 2
(1) ANM (2) MMU (3) ICDS (4) NHM
SONOTE SEEGE Soredods 3680 28 2
(1) ANM (2) MMU (3) ICDS (4) NHM
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141. Reason for the melting of Gangothri glaciers of Himalayas
(1) Global warming (2) Chloroflourocarbons
Particulated qust (4) Green house gases

2rEroaires ) Nolt'@ Srirdscres SORYFSEAS sEmo
[(1) 505 oroo (h s 0en) 'g""

(3) JPEsBEc Sooy (4) AS 5% TJ‘L&L@»..O &
142. Match the following : (Common codes for English & Telugu Versions)
Waste Disposal Method Pros/Cons
a. Landfilling ERE I. Low-cost, but has long-term environmental impact
b. Incineration e I Reduces volume of waste, but emits pollutants
¢. Composting "™ L Produces useful'by-products like biogas, but requires land
d. Recycling IV. Conserves resources, but needs infrastructure
STos TTB HHEY o Trgred 8o Sxo8 ‘065‘?*&
Sisass (4346) 550 ogres/ses
a. o50GLPoR L 855 &0, 50 YOy wésm FSerol) 507 éot0d
b. &80 . Sgeo 383587 BARB, 0 e ooy SETedh e
ﬁma&
c. Sod%oh ﬁg 1. e Soed ESArRERS Eodises: G5 3508,
0] Fpes 5 ajo‘&b @ST0.”
d. &2&oh IV, S:5508 So0&E00, 8 STOK sthedraires @ssto

Codes/S*Ges a b ¢ d
(1) nm v 1 111
) IV 0 H I
(3) I nm 1v)
(4) v I I m e

143. Assertion (A) : DHRUVA is India’s largest nuclear«f”égemh reactor.
Reason (R) : Advanced Heavy Water Reactor enwsag@iargc scale utilization of plutonium bearing
spent fuel.
(1) (A)and (R) are correct and (R) is the correct pr?anatlon of (A)

2) (A)and (R) are correct but (R) is not the correct explanation of (A)
3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) 1s correct

&5 (A) : DHRUVA &38 575583849 o8 ¢ e 30§65 oairsd. ERE
5830 (R) 1 58508 270 Tresb dairgd @“@TQ@Q% L) 505 FOGTR G JS R
DBTARE. . Ef=

(1) (A) 5080 (R) n}a 5 000K (A) & (R) 133 :)1' 8e~

(4) (A) ngm S0 svb (R) ngasa
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144. What is Digital arrest ?
(1) Arrest made by police when the accused is in foreign countries
(2) Arrest made by police when the accused cannot be arrested physically

(3) Arrest made by police when the accused is granted anticipatory bail by courts

L (4) Term used by cyber criminals to scare vietims |
G265 €505 essre O ? %%E
(1) Dobssi> dees” ey Fdives 3b &3
(2) DobBER Fosor €T TabBssyto Fves 3 ©0g
(3) VobEods Stiges Sovotisy Bowd eSS Hdoeh 3D &3

[((4) 268 B0, arotooms B DEORD T8 e )

n

T

145. State which is the largest producer of wind energy in India
(1) Andhra Pradesh [(2) Gujarat (3) Tamil Nadu (4) Karnataka

TOERES" 508 355 480 a6yd 35 050 98 9
(1) sogEds (2) Heod (3) s 4) sqges

146. Match List—I with List —I1 and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)
List — I (Emerging Technology) List — IT (Scientist)

a. Artificial Intelligence I. Kevin Ashton

b. Open-Al WRE II. Sam Altman

¢. Internet of Things (10T) &= IIl. Thomas P. Caudell
d. Augmented reality B'R  1v. Alan Turing

20T — 13 erdiee ~ 11 & $0Fey0d 1000 Eots 5955 S8 &3@rAod $OS BIrErIR)y
JooEod.

rdoe — 1 (smgcﬁ as:}e:é) 2doe - 11 («*a"§£§) Egg
2. GEm sy I 328 es3 e
b. &2& Al (Open-Al) II & e3>
C. 3oeByed e &chy (IoT) III. grsoR . 88
d. eRoBE Boxrde IV. 008 exrsBof
Codes/S*Ees : a b ¢ d
(1) ] 1] 1V [

i1 © v 1l I Tl
) | AVARNENS | BN 1§

“4) 11 v 11 I
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(1) Mumbai (2) Delhi (3) Pun@ (4) Indore
30 355 Do’ (FOE 3T BoSeEo0es) oy S 3@‘3”3{1 (£6° 35 s%) %ﬁ%
95000 DSOEOENTET O arcs@o:b 3150 oo robod 7 e
(1) S08 (2) &8 (3) I (4) 3056

148. Choose the incorrect statement.

(1) CO, is continuously being released because of human activities
(2) Deforestation is decreasing the amount of CO, -
(3) Oil spillage causes oxygen depletion and distress td’_aquatic animals
(4) Burning of plastic reduces the germination of sccdém crop fields
B3y 555 JoSoFod. |

(1) 3753 stEoare sSesor CO. DoBto kxse BoHes'od

(2) D AsTyeS CO, 0Ty SA0
(3) 85208 Dotsero So8 edimn S 8ot 00eNod Seurbdood
(4) 25 Seytio Se ot o8’ Difren Jneeto NS0

149. Radio Astronomy center is located in Ly
(1) Trombay (2) Ahmedabad 3) Dhanbad (4) Ooty

BAB> o' T3 SoSo s &ob ?
(1) erod ) wmorerd (3) &Serd (4) &oed

g ERE
150. Which of the following factors contributed most to the burden of malnutrition in India ? im‘l%f
(1) Lack of access to clean water A

l (2) Poor dietary habits and food insecurity )

(3) Overconsumption of processed foods

(4) Increase in environmental pollution
PESEFS Puists &% 80 BSKEDE $o8 oo’ DB JoST ETES5Eed ? s
(1) BgisRoms Ao esosSoerend” S5t

[ TS 00 B0 BOTER 000K B0 DHES
(3) PEAD Trgoe SoLrto DS (FFRD) TS ey :xs'cma’p esz;‘;gom Bo8%5¢0
(4) So°gs8er SEodEo DK £ %3
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